WORLD WORLD I ENDS
SITUATION BY 1917:
1) THE U.S. HAD DECLARED WAR BUT-

2) A _________________ WAS GOING ON IN _________

3) IT LOOKED LIKE THE _________ WERE IN _________

1918:
________ DROPS OUT OF THE WAR & ___________ CAN NOW SEND ALL ITS TROOPS TO THE _____________ FRONT.
BUT
THE _______ FINALLY SENDS _________ TO FIGHT.

THE CENTRAL POWERS COLLAPSE:
1) THE ALLIES ARE DEFEATING-

2) BRITAIN’S __________ ___________ OF __________ HAS
WEAKENED THEM.
3) THE FRESH _____ _________ HELP TURN THE TIDE BY LOWERING GERMAN __________.


GERMANY’S LAST SHOT:
   THE GERMAN’S LAUNCH ONE LAST ___________ IN MARCH 1918
BUT IT WILL ________ BY JULY 1918. THE _________ HAVE THE ADVANTAGE.

WW 1 COMES TO AN END:
1) ___________ SIGNS AN _______________ (AN AGREEMENT TO STOP FIGHTING) ON NOVEMBER _____, 1918.

2) THE ___________ HAD DEFEATED THE _________ ________

--------------------------------------------------------------------------------------
THE TREATY OF VERSAILLES
WHAT:
 IT WAS THE TREATY THAT ___________ & __________ FORCED ___________ TO SIGN AFTER WW 1.
MAIN PURPOSE:  ____________ ____________!!!!!
HOW DID IT DO THIS?
1) GERMANY _________ _____________
2) GERMANY WAS FORCED TO ___________ ITS __________
3) GERMANY HAD TO TAKE _______ FOR WW1 (THE WAR _______ CLAUSE)
4) GERMANY HAD TO ______ _____________ (WAR DAMAGES)


IMPACT ON GERMANY:
THE TREATY LEFT GERMANY _________ & _____________, AND WILL ONE DAY LOOK TO SEEK _____________!

THE U.S.:
 __________ DIDN’T AGREE WITH THE ___________ SO IT DIDN’T SIGN IT!

RUSSIA:
WAS LEFT OUT OF THE ____________ & WOULD ALSO LOSE _______

HOW WERE THE OTHER CENTRAL POWERS PUNISHED:
AUSTRIA-HUNGARY LOST _________ & WAS _______ _____
THE ______________ EMPIRE LOST LAND & BECAME ___________.

SOME OF THE NEW NATIONS CREATED AFTER WW 1 INCLUDED:

THE LEAGUE OF NATIONS WAS:


THE PROBLEM WITH IT WAS:

“A FLAWED PEACE”:
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